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COMPETENCIA: MATRICES 
1. DADAS LAS SIGUIENTES MATRICES.  
 

 

𝑱 − 𝑨             𝑱 = (
−𝟓 𝟒
−𝟑 𝟐

)     𝑨 = (
𝟏 𝟐

−𝟑 −𝟒
)      

 

  𝑱 = (
−𝟓 𝟒
−𝟑 𝟐

)                      −𝑨 = (
____ ____
_____ ____) 

 

 

𝑱 − 𝑨 = (
(     ) + (    )    (    ) + (   )
(      ) + (    )    (    ) + (   )

)          𝑱 − 𝑨 = (
(     )    (     )
(     )    (     )

)                           

 

 

                 

𝑮𝑻 − 𝑯                  𝑮 = (
−𝟏 𝟒 −𝟓
𝟐 −𝟑 𝟔

)                𝑯 = (
−𝟏 𝟐
−𝟐 𝟒
𝟔 𝟎

)      

 
 

    −𝑯   = (

____ ____
____ ____
____ ____

)                      𝑮𝑻    = (

____ ____
____ ____
____ ____

)    

 

 

  𝑮𝑻 − 𝐇  = (
____ + (_____) ____ + (_____)

____ + (_____) ____ + (_____)

____ + (_____) ____ + (_____)
)       

 

 

 

𝑮𝑻 − 𝑯   = (

____ ____
____ ____
____ ____

) 

 


